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QUESTION 1

According to ITU-T recommendations, the requirement that the MSP switching time should be within 50 ms is
conditional. For example, the number of NEs on an entire ring network is less than 16.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 2

MSP is a network-level protection scheme. The MSP does not directly protect a service, and the MSP switching and
restoration are not affected even if there is no service on the MSP ring.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 3

Which of the following is the default WTR time for MSP switching?
A. 6 minutes

B. 10 minutes

C. 12 minutes

D. 15 minutes

Correct Answer: B

QUESTION 4

During service configuration, there are two timeslot modes. Huawei uses the interleaved timeslot mode by default.
A. TRUE

B. FALSE

Correct Answer: B

QUESTION 5
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When severely errored seconds (SESs) are present in the PM section at the ODUK layer, which of the following alarms
is reported on the NMS?

A. ODUK_PM_ES

B. ODUK_PM_SES
C. ODUk_PM_SESR
D. ODUK _PM _UAS

Correct Answer: B

QUESTION 6

Which of the following are optical-layer trails? (Multiple Choice)
A. OCH

B. OMS

C. 0TS

D. OSC

Correct Answer. ABCD

QUESTION 7

Which of the following maintenance signals is transmitted from a downstream site to an upstream site in OTN?
A. ATS

B. LCK

C. IAE

D. BDI

Correct Answer: D

QUESTION 8

Which of the following can be the center wavelengths of the pump sources in an EDFA? (Multiple Choice)
A. 980 nm

B. 1510 nm

C. 1480 nm
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D. 1310 nm

Correct Answer: AC

QUESTION 9

Which of the following is the frame structure of STM-167?
A. 9*270*%1

B. 9*270*4

C. 9*270*16

D. 9*270*64

Correct Answer: C

QUESTION 10

The single-fiber bidirectional WDM system uses only one optical fiber to transmit optical signals in two directions at the
same time. The optical signals in the two directions should be arranged at different wavelengths.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 11

Forced switching, fiber cut switching, manual switching, and exercise switching are in the descending order of priority.
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 12

Outband networking requires higher costs than inband networking, but provides more reliable management channels.
A. TRUE

B. FALSE

Correct Answer: A
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QUESTION 13

On the OSN series transport devices, Ethernet ports cannot access tagged frames and untagged frames at the same
time.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 14

An unprotected chain consists of four NEs: NE1, NE2, NE3, and NE4. An end-to-end VC4 trail NE1--NE4 is created,
and NES5 is added between NE2 and NE3 for capacity expansion. The original configuration remains unchanged, and no
service is configured on NES. In this case, the unprotected chain becomes NE1-NE2-NE5-NE3-NE4, and how many
VC4 trails can be searched out?

A0

B.1

C.2

D.3

Correct Answer: C

QUESTION 15

The 1310 nm and 1550 nm transmission windows are low-loss windows. In DWDM systems, only the 1550 nm
transmission window is used. Which of the following is the major cause?

A. The working wavelength flatness area of the EDFA is included in this window.
B. The non-linear effect of the 1550 nm wavelength area is small.

C. The 1550 nm wavelength area is applicable to long-haul transmission.

D. None of the above

Correct Answer: A
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